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10. Question Figares. 201 FQO (21 VWU
— (3) AZY (4) TUS
@'@ll L] j?_ -
L] LI | a 21.
Directlons (1-12) : Select the . E m E @
related letters/word /fnumber/ Answer Figures T2 3 4
figure from the given alternatives. S B )

"1. Lock : Key : : Crime : ? ' Q O [j m
(1) Investigation E v A 32 (}

{2) Mystery 1 2 3 4 ooz 3 4
(3} Criminal 11. Iﬂ'lllﬂﬂll Figures
{4) Conviction ' ' 23, A I: \J w

2. Radio : Lis o Film: % s . -

(1] Transmission :a:ti:- ? _ ! 2 3 4
(2] Criticism - - e -

® Hero Answer Figures 2. |@' 2R
{4) Audience - ——

3. Book : Library : : Animal : ? ==2== s L .
(1) Domestic | sequentially placed at the
(2) Hunter 1 2 3 4 gaps in the given letter serles
(3 wild 12. guestion Figares shall complete it?

4 Zoo : a—baa—aaba—ca—b

4. Health -: Sickness @ T ’-y . 1. ‘.., *n [1} boca (2] ceaa

H?m: ? ro Lo " (3) acaa (4) abac

cine 26. Which one of the given
(2) Treatment Aunswer Figures regsponses would be a
(3) Misery meaningful order of the
(4) Chigerfulness : following words?

5. BDFH : CFIl, : : EGIK : ? ! WX 1.Cut 2 Puten
(1) FHKN  [2).FGKN i 2 3. 4 3. Sew 4, Measure
(3 FILO _ (4) FLIO Directions (18:24) :Selectthe 5. Chalk mark

6. HKNQ : ADGJ r: ORUX: 7 0 hioh is different from the (1)4.5 1,32
(1) ACEG (2} ADGH other three responses. (2)5.4,1,2,3
(3) MPSV Ef_ll LMNO 13. (1) River (2) Canal (31,2345

7. G0 ks ABE (8] Stréam  (4) Pond (44.6.3.1.2
{126 (2) 68 14.01) Duck (2) Spar Dimections (37-34) : A serics i
(3) 12 (4) 21 o SPATOW.iven with one ferm/figure

8. BCD: QPO :: EFG:. 7 {3) Pigeon  [4) Cock missing. Choose the correct
1) TSR (2) HLY 18. (1) January  (2) March alternative from the given ones
{3} SRT [4) JIH (3] July (4] September that will cor the series.

: ures. 16.(1) Spectacles {2) Dentures 27+ :1?923262[:}4134;
‘!.*gg- R g R GO @) 108 (4)106
1% G S 17.() XVIR (21 KNQR o8’ 416 152, 40

- - (3 1GEC  ([4INLJH (1) 24 228
Answer Irj_l:uu . 18. (1) 9 (2).16 (3) 52 14) 6
3] (3) 2 (4)25 29. 0,3,8,15,7, 35,48
Ediﬁl l'hl{i] 28-53 [3) 46-25 (1) 28 (2)24 ¢
- (3) 6747 (4] 68-33- 13) 22 (4) 20
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30. 19,23, 2'6 30, 33, 7

12) 35
(4) 39

'a8. X, WV, TSR, 7
(1} CDR (2] QPO
(3 EGH [4) HLY
WA E I M 7 O
ng (2] P
BN (4} O
37. A’ reads a book and And the
name af the author familiar.
'mcauuw-s'uﬂmpumaj
uncle af '‘C'. 'C" is the
of 'A'. How I3 'B’
related to 'A%
(1) Brother {2} Siater
(3) Father (4) Uncle
88. Sathi 18 older than Renu.
Geeta is younger than Renu.
Priya is older than Sathi.
Who is the eldest of them?

a8.

41.

45.

. If "BTAGE"

(1] Priya
(3) Rena

(2) Sathi

(4} Geeia
Kamala would Hke  to
compléte all her hone-wnrk
before 10000 pomn. in order to
watch an important TV
programme. -She has 40
inirules assigniment in each
of her five prepared subyjects.
What 15 the lalest time at
which she can start and still
complete her home-work In
the dme for the programsme?
(1) 640 p.m. [2) 6,30 pm,
(2 7.10 pom. (4} 7.20 p.m
Reaching the place of treeting
on Tueaday 15 minules before
0830 hours 1 found myself
half an hour earlier than the
man who was 40 minutes
late, What was the scheduled
time of the meeting?

(1] OB0O hours

(2] 0805 hoursa

{3) 0B 15 hoasrs

(4) 0B45 hoirs *

If in a certain code language
'‘NAME' is written as '4258",
then what Is the code for
"MEANT .

(1) 2458 {2) 5824

(3] 8542 (1) 5842
IfT=20, TEN = 39, lhtrl TIF

=3
(70 (2) a5
(3] b4 (4) 65

is coded as
TUBHF, ‘STRANGER will be
coded as
(1} TUSOBHFS
(2) TUROFSHE
{3 TUSBOHFS
(1)} TUBSRHFS
Il =" standa for division, "+
for rmultiplication, “+ for
subtraction and “x' for
addition, which one of the
lellowing equations s
COIToCL?
(1)24+B-4+2x3=16
F24-8+4x2+3=12
[ 24=xB8-4+2+3=1T
24 +B=-4 32 +3 =47
IfJ represents +, K represents
— L represents + and M
n:plﬁl:nta:-c then
IBM3BLIZKGJT =%

(1115 (2} 55
548
[E-‘JIW (4) 25

Directions [46-48) : From the
Hlven altéernative words, select the
word, which cannol be formed
using the letters of the glven word.

48. SIGNATURE

(1) GUEST (2} RESIGN
- i3) CENTRE [4) NATURE
47. INTELLIGENCE

(1) GENES {2} TELL

[3} ENGINE' [4} NICE
48. MATHEMATICS

(1) ICE {2) THE

{3 TIK {4) MAT

Directions (48-50) : What
should be the correct signs of the
equation to arrive at the given
answer?

49, I7-3x6=45 -

(1) =, = = (2] — =, =

(3= - [4] %, -, =
B0, 3+2:R..I11'?

(1) = +. = 2+ % =

@B =+ = =4+

- Directions (51-53) : In which
answer ﬂgun-, is the question figure
emnbedded

51. ﬁnerl:lnﬁg‘uﬂ

1 2 3 4

1 ] 3 4
54. In the figure you can see the

pleture of a group of blocks
armanged in a particular way,
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All the blocks are of same
size, You can see only some
of the blocks in the group.
Others are hidden by the
blocks in front of them. Try
to count the blocks in the
group including those which

you cannot see.

4 1218
e 4 g .

B3. Two positions of a dice are
shown below :

Nali

When 4 s at the bottom,
what will be at the top?
(12 [2) 3
13) 5 [4) 6

58. Which of the followning figiires
Ia exacthy the mirror image of
the question Agure when the
milrror s held at AB?

Guestion Figure

APzanyP
1 2 3 4
Ditections (57-89) : In these
questions a plece of paper is folded
ani punched feut as shown in the

quesiton ffvres. Ffom the given
anuwcr&urﬂa indicate how it will

s'r.ﬁu&hﬁﬁhhm

ODE
SRR

Y
58. gnuﬂmﬂtnru

NNAN

B80. Which one of the following
represenis Rice, Wheat and

Grain?
< QRO

81. Which one of the following
repreaents Schoal, Etud:nts

and Moniters? :
&
1Tz 3 4

§2. Which one of the lollowing
represents Females, Mothers

and Doclors?

&

aIp)

@

&

1

Directions (63-64) t Which one
of the answer figures shall complets

2

the gyen queslion fgure?
63. Queation Figure

4

B85. At a certain film festival,
elght films will be shown J,
H, L. M N F Qand B The
order of the showings must
meet the followlng condi-
tions ; N is shown before L. J
18 shown third, Q is shouwn
fifth. If N 15 shown immedt-
ately after P, then P could be
shiown
[1) Third 12} Fourth
(3] Fifth  {4) Sixth

s Sufit travelled 15 km to the
west, then turmed right and
travelled 8 km. He turned left
and travelled 8 km, then
tumed back and travelled 13
kv, Then he tuemed Aght amd
travelled 8 km. How far is he
from the starting point?

(1) 17 km (2) & km

(3) 11 km 7

67. Gopal started walkitiff 2 km
straight from his schoal.
Then He turned right and
walked 1 k. Again he turned
right and walked 1 km to
reach his house, If his house
is south-east from his
school, then in which
direction did Gopal start
waJkﬂiﬂ from the school?

(1) East - (2] West '

(3] South (4} North

Directions {88-69) : Some

squations are solved on the basis
of a certain system. On the same
basis ind out the correct answer
from amongst the four alternatives
for the unsolved equation in the
guestion,

8. 8+6+ 1 =168 )
42412125 142487
4] zaé {2) 321

1 1% {41312

80, 4x6x2=351,
3x9xB8=287, 9x8xE=7
(11270 (21 845
(3) 596 (4658 -

78, 5 stiilerits A, B, C, I, E are
sitting inid cirele facing £ach
other, Il £ 1s between A and
D,:md A iz to the right of B,

m who is to the left of B?

!3{ 2B

C HE

71. A father gives morey to his
five sons as ghven below. How

much does he give to his
yourngest one?

8
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[ 1] e IV
FAai45 | Aai0d | Resd | Re37

(1) Rs. 20 (2) Rs. 25

(3) Rs. 22 [3} Rs. 19
T72. If the clock read 6.20 and if

the minute hand points

North-East, in which

direction will the hour hand

polnt?

(1) West

12) Sputh-East

{3) East

4] North-West

Directions {73-78) : Select the

migsing number from the given
TeapOTESEs.

¥

7a.[1 (3] 2
8|67
8|57
72|90 56
(1) 22 (214
(3) a7 {415

4.5 4 B & & 8

Y Y Y

20 64 »
[1) 25 (212
(3} 28 4o
78: 5899 &5 &
(1) 196 (@) 184
[3) 160 [4) 200

78. Among. the four answer
figurés which one can be
formed from the ecut out
pleces glven in the guestion
figure,
guestion Figure

X
AAIAIA

1. 2 3 - 4
Directions (77-78) : In each of
the following questons an address
has been given which has been
eed against (1), (2), [3) and
{4). Of them, three have some
mistake {5} while one s EXACTLY

the same as given below. You are
to choose the one as your answer
which 1s EXACTLY the same
reproduction of the given address.
17, Ashwathakatti Road,
Vigwes! !
Bary - SE0004
(1} Miss. Sutha Laeni,
17, Ashwathakatti Road,
Viswashwarapiuran,
Bangalore - 560004
2} Migs. Sutha Laxmi,
17, Ashwathakattl Road.
Vlmhm*aptu‘mn,

Bangalore - S60004
(3} Mrs, Sutha Lasomi,
17, Ashwathakatt Road,

[4) Miss, Sulha Laxme,
17. ﬁ.thwaﬂmka"tﬂ Rk,
Visweshw
e - m
78. Anil Santhosh Humar,

3. West Club Road, . .

" Secimderabad. 5&0003

(1) Antt Santhosh, Kumar,
13 West Club Road.,

T Secunderaband- 560003

(2] Anil Santhosh Kumar,
S0 West Chib Road,

! Beeunderabad-560003

(311 Anil Santosh Kumar,

3 West Club Road,

~ Becunderabad-BE0G03

(4] Anil Santhosh Kurmar,
w3 - West Chals Fioad
Becinderabad- 200003

T6. Which of the: following
addresses is not‘stmilar to
others?

(1] Abhirama, Susarla
50-50-1, TPT Colony
Seethanagar :

(2] Abhiram, Susarla

T 80-50-1, TP'IGQW

l:!] Abhiram, Eu.d'-aﬂi
50-50-1, TPTEColony
Seethanagar

(4] Abhiram. Susarla
50-50-1, TPT Colony

&0. Which of the two, addresses
in the guestion given below
are exactly

(1] M.V. Rama Raju
11, Sea Sands

» WALTATR

(2) M.V, Rama Raju
11, Sea Sands
WALTIAR
[3) M.V. Rama Raju
11, See Sands
WALTAIR
[4) M.¥. Rama Raju
11, Sea Sands
WALTIAR
Mland3, {2)2and4d
B3and2 @#4andil
Directions (81-84) : Below are
Eiven Roll Numbers of 25
candidates at different centres for
an examination. The [irst two
digits from the left stand for the
centre code and the next four for
the serial number of the
candidates registered at the
centne.
63164 554732 373307 HAR4G3 FT13R9
ATHABE 495357 384244 ITIMEE HEE02
CFEIIRI A52TAE SHIIA3 IATI4 333TRI
BEA048 402404 AEAAT ] S04034 40LIEY
5032248 354823 BER47T 321367 566462
Now anawer the following
guestions based on this sample of
rall iumbers,
81. Which centre padr has the
comman sertal number?
{1] 35 and 56
[2) 35 and 37
[3] 49 and 59
(4) 35 and 59
B2. How many candidates have
‘even’ serlal number in the

Lable?
(1} 13 () 15
[3) 16 [y 17
83. Which centre has been
represented  maximum
number of times?
11) 32 2).35
[3) 56 4) 59

B4. Which centre has the largest
number of candidates with
every serial num

(1) 35 {Z) 49
(3 55 4 55
Directions (85-88) : In these

questions the name of a town and
a date is given followed by four
alternatives {1, 2, 3 and 4). Of
these alternatives only one
matehes the town and the date
glven below while others have
some mistakes or the other. You
are to choose the akernative as
your answer which 1s EXACTLY
the same as the glven one.

JAGRAN
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86. Washington 90, [Fows "~ Columing MATRIX-II
27th March 1943 1 L m[wvv _
(1} Washingtan 1 |8 1224657 5|6)71819
27th March 1943 A e S§|N[S[R[S]T
(2) Washington 3|5 |15(25(30]45 BlQlO|T|U|X
2Tth March 1483 4 9 |18 54 | 81 FIWwixIelulv
(3) Washington, 5 10[20 |40 | 60 [ 90 sTv Tz vlalx
27th March 1843 ¥ Columns 1, 1 and ¥
4] Washington 2) Columns I, [V and V SIZIWIR|SIA
27 March 1543 13) Eclummns I, 10 amd TV 03. CARE

88. Bhuvaneawar, P.O.
10th Sept. 1787
{1} Bhuvanesarar. PO,
10th September 1787
(2) Bhuvaneshwar, P.C.
" 10th Sept. 1787
[3) Bhuvaneswar, P.O,
10th Sept. 1787
(4) Bhuvaneswar, P.O.
10th Sept. 1987
87. Bangalore Canftemment
8 Dece 1217
(1) Bangalore Cantonement
8 Diece 1217 .
(2] Bangalore Cantonment
Bth Dec 1217
{3} Bangalore Cantonment:
8 Dece 1217
{4} Bangalore Cantonment
S8Dec 1217
B8, Thirovankulam *
17th January 1942
(1} Thireankulam
I'7th Janitary 1942
[2) Thiruavankulan -
17th Janiary 1842
(3) Thiruvankulam
I'fth January 1942
(4] Thiruvankulam
17 January 1524
virections {88-22) : In these
questions some numbers are ghhen
in different Rows/Columns,
Which of the given Rows/
Columns are connected frelated
with each ather in' some way?

as. Columng
L I I [m [
L 41 |42 | 43
2 5 |7 |13[33
3 1n1z]1al2
4 18 | 16 28 [25
5 21 [22]23 |24°

(1} Rows 1. 2 and 3
(2] Rows 1,3 and 5
(3] Rows 2, 3 and 4
[4) Rows 2, 3 and 5

{4) Columns I, Hl'and V

o1. [Rows Cohumns

R H[ODPIV VO
1 4] 1224148 96
2 7| 14|28 | 58112
T | G| 1895 72 |14F
F B | 10| 20 | 40 [ 80

=X T“l‘i"ﬂ""ﬂ EE

(1) Rows 1.2, and 4

(2) Rows 2. 3 and 5

(3) Reows 2. 4 and 5
(4) Rows 3, 4 and 5

“I-
1 1 [o[mlw|v
1 |2rlag(7=2] 70 (63
2 [18[36[438]40 |42 |
& 9 | 183424 |21
4 E‘TEI; 7

(1) Colurnms 11, T and IV

{2} Colurnma I, Y and V

(3} Colurmns II, 1T and V

14) Colutnna I, I and'TV

Directions (83-94) ¢ Given

below are twi Matrices of Twenty-
five Cells, sach containing two
classes: of ' alphabets. The
columns.and rows of Matrix | are
numberad from Oto 4 and that of
Matrix 11 from B to 9. A letter from
these matrices can be represented
first by its row number and next
by 1ts column aumber. In each of
the following questions, identify
one set of nustber pairs out ol (1),
(2),.(3} and (4) 'D-‘hil:h’ represents
the given word.. .
Ilnml:-l

0
TA
H
iy

Zfafe]|
m|r| o] =|a| -

i

r-1n-'~1'1im'.
=|o

b i Ll B mp-’-'

T

(1) 24, 21, 98, 31
[2) 22 21,98, 31
{3) 24. 21, 96, 31
4] 22.°21, 98, 31
24, RUST
(1) 57, T8. D6, 56
(2} &7, B8, bb, bo
[3) 27, B8, &G, 59
. [4) 57, 68, 97, 66
8. HARD
(1 10, 21,959, 32
(2) 40, 22, 98, 33
(3) 40,21, 57, 33
(4 10, 21, 56, 32
8. CROW
(1) 24, 98, 66, 96
(2) 22. 97, 656, 96
3) 22, 56, 65, 74
(4] 24, 58, 65, 85
Directions [(87-100) : Below
are given letters A to Z. Under
each capiial letter a small letter
i written which 13 ¢o be used as a
code for the capital leiter :
ABCBPEFGHTI JKLM
jafirixavesoyd
NOPQRSTUVWXYZ
gmi guczwhpkbf
In each of the following
questions, a group of six capital
lettera 18 given and its code
equivalent is glven in one of the
columna (1), (2], (3) or [4]. Study
the group of letters given n each
queaton and with the help of code
Elven above, choose the code
equivalent from amnng:st (1}, 123,
(3) or (4) a8 your answer.

oy 2] 3 (L]
ubioir] nywgea kogsor  vezuly
nyweqa tecigl  ligawe  kegoqr
upirvg wqgsibl  bilpyg waqbl
wesyy upfung nywgea  kosgor
bégppu uhmvt  wpfivra blipog
7. BLUGSG
B8. RWZHDG
29. HITREH,,

100, YCEWHN
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Answer: General
Intelligence
1| (1) 26 | (1) 51 (1) 76 | (3)
2| (4) 27 | (2) 52 (4) 77 (2)
3| (4) 28 | (2) 53 (3) 78 (4)
41 (3) 29 | (2) 54 (2) 79 (1)
51 (3) 30 | (3) 55 (2) 80 | (2)
6| (3) 31 | (3) 56 (4) 81 (4)
71 (3) 32 | (4) 57 (2) 82 (3)
8| (2) 33 | (3) 58 (1) 83 (2)
9| (3) 34 | (2) 59 (2) 84 | (3)
10| (3) 35 | (2) 60 (1) 85 (3)
11| (1) 36 | (1) 61 (3) 86 | (3)
12 | (3) 37 | (1) 62 (3) 87 (3)
13| (4) 38 | (1) 63 (2) 88 | (3)
14| (1) 39 | (1) 64 (3) 89 (2)
15| (4) 40 | (2) 65 (4) 90 | (2)
16 | (4) 41 | (2) 66 (3) 91 (3)
17 | (2) 42 | (2) 67 (2) 92 (2)
18| (3) 43 | (3) 68 (2) 93 (1)
19| (2) 44 | (4) 69 (2) 94 | (3)
20| (3) 45 | (2) 70 (3) 95 (3)
21| (4) 46 | (3) 71 (4) 96 | (2)
22 | (2) 47 | (1) 72 (3) 97 (3)
23 | (4) 48 | (3) 73 (2) 98 | (3)
24| (2) 49 | (4) 74 (3) 99 (4)
25| (3) 50 | (1) 75 (4) 100 | (4)




